Vmix = 170.878 m’ (from paragraph (f) of this section)
Vemsd = 0.925 m® (from paragraph (f) of this section)

Vegasta = 0.527 m® (from paragraph (f) of this section)

mpms = 0.0000045 g

MpMbkend = 0.0000014 g

170.878
PM

—j -(0.0000045—0.0000014) = 0.00133 g
0.925-0.527

(2) If you sample PM onto a single filter as described in § 1066.815(b)(4), calculate mpym

using the following equation:

V.
m — mix . ( mP — m )
PM Mfil PMbkgnd
(Vct-PMstd - K:t-sdastd ) ) (Vht-PMstd B Vht-sdastd )

0.43 0.57

( s-PMstd I/vs-sdatstd

Eq. 1066.605-3



